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NO. 1+16.6 |[NO.1 + 16.60 0. 50 0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
NO. 1+16.6 |[NO.1 + 16.60 0. 00 3.20 1. 60 3.20 1. 60
NO. 2 NO.2 +  0.00 3. 40 2. 80 3. 00 10. 20 2.80 3. 00 10. 20
No.2+15.0 |NO.2 + 15.00 11. 60 2. 60 2.70 31. 32 2.60 2.70 31. 32
NO.2+18.0 |[NO.2 + 18.00 6. 40 2.80 2.70 17. 28 2. 80 2.70 17. 28
&t 30. 90 88. 50 88. 50




ERMAEER LiHEF

(—X40)
MET
firs T
EE a7 —} @ Lifi X - AEYERT X L D
(t=10cm) L=  9.00 9.00 | m 9.0




M8 » a » 7 U — b (10m24 )
4 PR At M =V VAR ~'¢
a7 U—k | V= 0.100 X 0.100 X 10.000 = 0.100 | m® 0.10
(18-8-25BB)
H ikt A= 0.100 X 0.100 X 1.000 = 0.010 | m® 0.01

(VT ARAETT A HIA4, ¢ =10mm)




MEYEREILHESE

(—xH )
S EUE L T
a7 —k QU (250)
R B EE K - EERTE L D (NOL. +7. 1)
(THE777) V= 0.09 X  9.00 0.81 | m
@ K5 T (I
TXXD
Vo= 0.12 X 4.00 X  2.00 0.96 | ni
L. |
g =
g | -
| -
.‘. 'h mm 1
> 1.77 | m 1.8
T AT 7 )b bk BE L EHEELY
SHEERREUE L | A= 77.97 77.97 | m
(t=10cmLLF)
> 77.97 78.0
S AL R BT W
(7AZ77/LR)| L= 3.40 + 3.20 +  2.60
(t=15cmLL F) +  2.80 12.00 | m 12.0
TR ALEE T
TR oy ) — MESEMEEEL LV
(= ry—1) | V= 1.77 .77 | m
> 1.77 | m 1.8
TR T AT 7 NEREERREEE L LY
(7277 K) | V= 77.97 X  0.04 3.12 | mi
> 3.12 | of 3.1
ALy ARIER LD
ey s y—r) | V= 177 1.77
> 1.77 | m 1.8
RISy RIER LD
(72774 F) | V= 3.12 3.12
> 3.12 | ni 3.1




HY 5% <8 At L &
. bg y — WOl T 2 7 7oL O | B o oo v s U — b
B 4 wo | B Fo| ¢ B | m B | W | F | @ M (Bmk| T B | kM
(m) (m) (m?) (m) (m) (m®) (m®) (m?) (m”)
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